H.W. #18 EE 420/ECG 620 Spring 2020

Show your work for credit and put a box around each of your answers (follow the hw
guidelines!) Unless otherwise indicated use the book’s long-channel (1 um) process.

1. Estimate, using simulations, the change in the below Schottky diode’s voltage drop with
temperature. (2 points)

Plot VD

DSchottky

.tran 1 .step temp 25291
.model DSchottky D VJ=0.3

2. Estimate, using hand calculations, the reference voltage and reference voltage’s temperature
coefficient in the following circuit. Compare your answer to an LTspice simulation. (4

points)
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DScholtky
.dc VDD 4 6 R1
.step temp list 0 25 50 75 100 57k TC1=0.002
.model DSchottky D VJ=0.3
.include cmosedu_models.txt D2

DSchottky 8



